
Maths Homework Y5 Mrs Ferrier and Mrs Davis 
Date set:17/11/20 

Date due: 23/11/20 
You need to try to complete both sections 

 
 
 

Section 1 –  
 
1. 49,126 = 49,000 + 100 + 26 

 
2.  What is the value of the 6 in this 
number:     763,915      60,000 
 
3. Order these numbers from largest to 

smallest: 
 
 76523   76223     75623      75326  
 
4.  12 = 144 ÷ 12 
 
5.  56 = 8 x 7  
 
6. Jennie starts with 27,436 and keeps 

adding 100 to it.  Which one of these 
numbers will she make? 

    27,563          31,434              28,036 

Section 2 –  

 

1. Round 836 to the nearest 10 and 100  

 840 / 800 

2.   Round 579 to the nearest 100. 

 600 

3.   Round 4,524 to the nearest 100 and 
1000.        4,500 / 5,000 

4.   Round 67,587 to the nearest 1000. 

 68,000 

5.   Round 92,462 to the nearest 10,000. 

 90,000 

6.   Jeff won £32,769 on the Lottery. 
Round his winnings to the nearest  10, 
000.        £30,000 

 

 
 

 


